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Use the WKB approximation to determine the bound state energies of
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A neutron falling in a gravitational field and bouncing-off a horizontal
mirror exhibits quantized energy levels. The potential of the problem is
V(z) = mgz for z > 0 and oo for z < 0. Applying the WKB method
obtain the energy levels of the system.

Estimate the ground state of the infinite-well (one-dimensional box)
problem defined by

v 0, forl|z|<L
| oo, forl|z|> L,

using the trial eigenfunction ¢ = |L|* — |z|* with « the trial parameter
and compare it with the exact energy value.

Fzx, ifxz>0
oo, if z <O0.
as a model for an electron trapped on the surface of liquid helium by
an electric field due to two capacitor plates bracketing the helium and
vacuum above it or for the MOSFET. Applying the variational method
calculate ground state energy. Use the trial eigenfunction as ¢ = ze™*.

Consider the triangular potential V' (x) = This is used



